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D 6900a, 69 m?2 @ 5km?, 500000 m?
@ 850ha, 8.5a @780000 m2, 78 ha
® 4a, 40 m?

B

@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?




D 4m = 400 cm
@12 m? = 12000 cm?

@ 70000 cm?2 = 7m?2
@ 480000 cm? = 48 m?2
® 630000 cm? = 63 m?2

® 12m? = 120000 cm?
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D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha

B

T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha

o Bt




@® 3kg=3000g @ 4t =4000000g

(@)5.51: = 55000000 g @ 6t = 6000kg

® 120t = 120000 kg

@ 5.5t = 5500 kg = 5500000 g
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1060000 cm?

(15x 8) — (7% 2) = 120 — 14 = 106( m?) = 1060000( cm?)
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» E. ha

240 x 150 = 36000( m?) = 360a = 3.6 ha
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A= A3 AL ol AR AEAL,

3700000( ) =370( )= 3.7km?

O m?, cm? @ m?, a @mQ, ha

1km? = 100 ha = 10000 a = 1000000 m>
THERA] 2 AR m?, ha 9 @®o] HY,
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11. 7}=27} 15km ©]3l A|27F 8km ¢ ZAMZEE HeFo] wol Ql5UTh.
o] o] goli= 4 ha Q1A FolA| L.
» E. ha

> ®EHD 12000 ha

15 x 8 = 120( km?) = 12000 ha




12. o5 F 77t FAR £o= Al HARl Z19] 7|98 2A1L,

1. 7 £-2000000 g L. 6000000 g+5 t
T. 4000 kg+800000 g a. 12 t-620kg
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22 HQ 2 vito] BAE 3t thg vl gyt

7. 7t —2000000g = 7000 kg — 2000 kg = 5000 kg

L. 6000000 g + 5t = 6000kg + 5000 kg = 11000 kg
T. 4000 kg + 800000 g = 4000 kg + 800 kg = 4800 kg
=
N

. 12t — 620 kg = 12000 kg — 620 kg = 11380 kg
Eolle =1




13.

2>
1=}

_tgq

We] 918 245 A5 B Yun
740kg o] B3 R AH 5417 302 F<
=] T2,

Mo I
- 9

>
s
4 2

pl 30,

S
=

[
[—

|

>
> Hg: 407t
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A1t 302=5.541%F
Eo] BA: 740 x 5.5 = 4070(kg) = 4.07(t)
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400m? = 4a ©|B22
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26 x 250 = 6500(kg) = 6.5(t)
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(A cend gol)

= 88600 — (250 + 390) x 230 + 2

= 15000( m?)

(AR c=229] Zo])= 15000 x 2 + 150 = 200(m)




16. o5 2R3 22 BoFe] Ayt 7= 1254t Ayt o] A 1a 9

FAE 2 kg Qu71?

Ao Yol

= 95 x 60 = 5700m? = 57a
12.54t = 12540kg

1a 9] 7] = 12540 + 57 = 220kg
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_.0.35km._
==

km & m 2, km? & m? 2 114 AASHH,
(A= &S] Hol)

= (350 + 480)x (¥=°])+2 = 166000
(3=°])= 166000 x 2 + 830 = 400( m)
(A2 Lea9 gol)

= 480 x 400 + 2 = 96000( m?)

96000 m? = 960a = 9.6 ha
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AFE L e 20 ol [em 28 (1204200)x |+2 =
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[ ]=180(m)
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28800 + 2 = 14400( m?)
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(120 +[ ) x 180 + 2 = 14400 ,

A =40(m)
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=t 24ha

800 x 600 + 2 = 240000( m?)
= 240000 m? = 2400a = 24 ha
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B 7| AR 1 A7 ]| AJAtst= A==

196 + 2 = 98( kg) @Yt

1.35t = 1350 kg ]| B2

1350 + (82 + 98) = 7.5(A1%h)

7.5 AlZt= TAIZE30 &

w2hA 7 x 60 4 30 = 450(2) dYth.




